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det(In −D(e−ph)) = 0, detK(m) ≡ φ(m) = 0, m ∈ C,

>E^G>I ORE KFMCG |m| ≤ 1 
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k(t) = (k, t) = (k1, k2, ..., kn, t),

8�� ki 6 (#'$� 2�.%�� % '#'��0� Si % 0�0� � %��0� # t! i = 1, n� k#'$� '�'��. #� '��#
��% � N = Cn−1

n+K−1� ����#4� %���.� �'��� ;���<���% 0�/�� '�'��. #.0# '��# �1�2 �(#0
(���2 Q = ‖qij‖N×N � ��/ � �'�� �%#�& '%.2& 0�/�� ���� 0���#4�� # 0���#4�� %���.� �,
'��� ;���<���% 2�.%�� 0�/�� '#'��0�0# '��# P = ‖pij‖n×n! 8�� pij 6 %���.� �'�& ;���<���
2�.%�# #2 '#'��0� Si % '#'��0� Sj � ��.%�� ;�# ;���<��� #2 �� �� '#'��0� % ���8�- ;�#,
 �'#� ;�'$�� �� '#'��0�  �������� ��<��! ������� 0�/�� .%$.�&'. '$�(�� �� %�$#(# ��
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/�'�%�0 '�����8#� �;��%$� #. % l,�0 '�'��. ##� ������ '�����8#� n̄ = (n̄1, n̄2, ..., n̄N ) ∈
Ni × N2 × ... × NN  �2�%�0 ;�$#�#���� �'$# '�����8#. nl #$# ;�$#�#�� n̄ %�1#��-�,
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¯̄n(t) = (n̄(t), n̄(t+ Δt), ..., n̄ (Tmax))! �;����$.-?�� �%�$-4#- '��#� �'$# Tmax < ∞! �� 8�,
%��#0 � �� �( �0 8��#2� �� �;��%$� #.! % ;���#% �0 '$�(�� 6 � 1�'�� �( �0�

S�'�& E = E (¯̄n) 6 �33���#% �'�& 3� �4#� #��%� #. '��#  � 2���  �0 # ���%�$�
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 �0� ����(� �;�#0�$& �8� �;��%$� #. �$. ��,'��# '�'��#� % ;�#'�� �;�#0�$& �8� �;��%,
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E (¯̄n∗) = max
¯̄n
E (¯̄n) . A9B
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��2$#( �� 0����� ���� #. 2���(# A9B�

=(� �� *�!���!��"

;< AQLQ;m\=Cc A
:
� bE;MlQ<?Q K
@
 m���
����� ���� ����
�x
 
u���v�����k h�
�r�
�f�
e �
h
�
x��
� n
q
n��� HH ~
��< ��� j < ����< �< �E< { ;< T� h�s���U<

�) A@#'%�"�<BC !'('�=!BC �����"!�"C ��!�>!�>
�����<B !�>�#'�=!�&� ��@' %��#�&� @�#" �'

4�o� ��!�*& ��$

 ��
������e ��t�
���f�oe ��q��s����e ������������ h�< ��r������
��� 	�� ����;E m�����  ������f
������
�	����
���

S�'�& #''$����0�. '#'��0� A �2�%�0 �� ΣB #0��� %#�

ẋ(t) = Dx(t) +D1x(t− h) +D2ẋ(t− h) + bu(t), t > 0, (1)

x(t) = ϕ(t), t ∈ H− = [−h; 0]. (2)

���'& x = col(x1;x2) ~ 5,%�����,'��$1�4 3�2�%�< ;���0�  �< �1'�$-� �  �;����% �8�
���� #. ���% � #. A9B� 0 < h ~ ;�'��.  �� 2�;�2��%� #�� D = (dij),D1 = (d1

ij),D2 =
(d2
ij) (i, j = 1, 2) ~ ;�'��.  �� 2× 2 ,0���#4�� b ~ ;�'��.  �� 5,%�����,'��$1�4� ��;�'�#,

0�� �;��%$� #� u(t), t ∈ T = [0; t1], ~ '�00#���0�. ' �%������0 3� �4#.! 8�� 0 < t1 ~
��'����( � 1�$&��� 3#�'#��%�  �� 0�0� � %��0� # A0�/ � %2.�& t1 ≥ 2hB� ��(�$& ��
3� �4## ϕ '(#���0 �1'�$-� �  �;����% �0#� ϕ ∈ D2 ! 8�� D2 = D2[−h; 0] ~ 1� �<�%�

;��'��� '�%� �1'�$-� �  �;����% �< 3� �4#� '  ��0�� ‖ϕ‖D2 = |ϕ(−h)|+
0∫

−h
|ϕ̇(s)|ds! 8��
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W (λ) = λE −D −D1μ−D2λμ, μ = e−λh,

<�������#'�#(�'��- 0���#4� ���% � #. A9B� ���'& E ~ ��# #( �. 0���#4�! λ ∈ C ~ 0 �,
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� rank [W (λ), b] = 2 ∀λ ∈ C; (3)
.� rank [b,D2] = rank [b,D2b]. (4)
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